Chapter 13 

1. If M2 is 4000, small-denomination time deposits are 500, large-denominatin time deposits are 400, money market mutual funds held by individuals are 200, and money market mutual funds held by institutions are 300, find M3.

2. if M3 is 6000, small-denomination time deposits are 500, large-denomination time deposits are 800, money market mutual funds held by individuals are 400, and money market mutual funds held by institutions are 700, find M2.

3. If M1 is 3000, savings deposits are 1000, small-denomination time deposits are 300, money market mutual funds held by individuals is 400, and money market mutual funds held by institutions is 200, find M2.

4. If M2 is 7000, savings deposits are 1100, small-denomination time deposits are 800, money market mutual funds held by individuals is 500 and money market mutual funds held by institutions is 600, how much is M1?

5. A goldsmith has 2000 gold coins in his safe and 2000 receipts circulating. (a) How much are his outstanding loans and what is his reserve ratio? (b) the goldsmith lends out 200 of his coins. What is his reserve ratio?

6. A goldsmith has 200 gold coins in his safe. If there are 500 receipts in circulation, how much is his reserve ratio? 

